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FFs 4 HiEs HH RAEHLR
1 BRI 31 Okttt 8 1 6 A WA
2 Vey:! 330skskskketskokksok k2T X A 7R
3 K 31 Okttt 1 1 A W7
4 ELE v 31 0ok kkkk 220 A 2R
5 B g EA 31 Osksdokskadokskkook k23X A 7R
6 ES =t 32 0skskltetekaikok 71X A WA
7 I HT 31 Qsekertetokaiekok 336 A WA
8 TLEE 31 Okttt 1 0 A WA
9 R R —— A W7
10 2R 4] T stttk 859 A WA
11 Ei) 31 Qekertetetokaiekok 824 A WA
12 A 34 sekskdkokdorkok k336 A B
13 GRS 31 Qekstefokekaiekok S 1 8 A WA
14 MR 310kt | 27 A T4
15 oute 31 Okttt 0 38 N1 B
16 AR 31 Qtokkatokdkaiok k278 N1 R
17 XNVE R 34 Qksrtletotokikok 31 6 N1 WA
18 Y WSS 4125k ks xk 48T 4 N1 WA
19 B 31 0skskokkrkkoknkd 18 N1 AR
20 £TN TN 31 Osksdosksksdoskoksiskokkk 4 1 X N1 7R
21 JB S A 31 Qsksesestesestestetetetesk 0 3 2 N1 W
22 R 31 Qsksesesesestestetetetetek 759 N1 2R
23 = 31 Qsksksksksksksksestetkk 0 1 3 N1 BR
24 g 32 Iskseslestestestestetototeok | 73 N1 2R
25 MRk 41 stspmkkik3 1 X N1 BE
26 Z=H| 4] etttk 31 X N1 2R
27 TKE 320skksskkkskkokokok§ 1 4 N1 B
28 e 31 0ksktkrokrnkk 2] X NI -
29 4% 39 | sksksksksksksksktedok k437 R1 BR
30 7K i 370%kspkirkink] 17 R1 -
31 JE AR 340k k%8 16 R1 7R
32 K [E % 51 2skskdskstosksksokdok k512 R1 7R
33 KER 31 0skkksttostobookokokok 337 Rl 7R
34 Vs 4295k kkskkkdok ok k948 R1 7R
35 ZEHER 342kt kk T 6.4 R1 7R
36 7= 31 Qskkatkosedokakokok 750 R1 A
37 24 530kttt k 64X R1 B
38 F s 31 0sskstoiokiok 42X RI 7R
39 TR 31 0sskiokiopkon 244 R1 B
40 TRINIK 31 0sskkiokiorkx 260 RI 7R
41 ki 310%kkskkkkkkk %616 Rl WA
42 ZEM 41 2%k kxokk %k 898 R1 WA
43 fER 310k k 81 6 R1 W7




